K ART P ARTS

PEDALIERA MICRO
1EVAUER (1 CRO PEDALS

20 In vigore dal - Effective from 15-12-2021




Rif. MICRO PEDALS ¥

Description Tax included

A |0015.C0 7°b—%A’4')L MICRO Micro brake pedal 17,050
B [0014.CO THEryA’s" L MICRO Micro accelerator pedal 17,490
C 10016.00 AEWE-2R7)0Y Return pedal spring Rookie - Micro 539
D |0010.E3 A4V 291~ MICRO Threaded bar M8 1,760
E |0010.E2 A8 VYK —PAA—H— MICRO Micro pedals spacer 1,320
F |R.P.8X17 7yY4— D.8X17 Washer @ 8x17 mm 22
G |D.M8 a4y K =Y 31V /R Nut M8 22
G1 |D.M8A.A. +4ns1yk M8 A.A. nut M8 33
H ]0010.00D3 MICRO 79M}# —F4 RPN~ Accelerator locking plate for Micro rudder pedals 4,840
1 [V.TCE5X30 T U=%n9bYE-v%497°K L+ 5x30 TCEl screw 5x30 mm 44
J R.P.5X11 Dyy4— D.5x11 Washer @ 5x11x1 mm 1
K [D.M5 +yk M5 Nut M5 1
L (0010.E1 A8V Y§~F MICRO Micro rudder pedals support 11,110
M [V.TPSCEI6X30 Vite TPSCEI 6 x 30 TPSCEI screw 6x30 mm 0
N [0033.00 At'yIyY¥— M6/ALU Biconical AL washer @ 6 mm 264
O |R.P.6X18 Jy¥4— D.6x18 Washer @ 6x18x1 mm 1
P |D.M6A.B. n7ay9+yM6 (F4aY) A.B. nut M6 22
Q [(0010.00B4 7N —FRAA—F— 5mm Spacer 5 mm 1,320
R [0214.C0 Piolo freno meccanico e filo sicurezza Mechanic brake pin safety cable 2,750
S [R.P.6X12 D9Y4— D.6x12 Washer @ 6,3x12,5x1 mm 22
T (0213.00 TIYNIY—T Y %R~ Adjuster 539
U (0214.00 Mechanic brake pin 2,750




